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=m(m—1)(m—k+1)(m—k)x™*"

k+1

d k
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(3) dxk+110gx dx/ 1)kt pr
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318 (1) 3 (2 —%x3+%x2—3x+1

[(1) flx) OEBERDEE ax” (a*0) &F
2L, 2" (2)+A=x)f (x)+3f(x) DR
KROEE (—n+3)ax™ @I —n+3=0
2) flx)=ax*+bx*+cx+1 £BL &
(9a+b)x2+ (4b+2¢)x+c+3=0]



319 a=5, b=-38
[x=1 ZBWTHATETHLEHH
lim FQA+h)—rQ@) —lim f(1+h})l—f(1)

A0 h h=+0
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1mT
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2
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h—=~—0

N2 BDITIX
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320 (1) F(R)x+sf(R)—Fkf (k)
@) F(R)=0, f(B)=0
(3) a=-5, b=3
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322 [(1) flat+x)=fla—x) - OF N
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=135,1Lf);&)—-(—1)=—f’(a)
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h
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limx x+h)]
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-X

Lim (=D)=—7"(a)
(B (1) ©QOWB%Ex THATHE
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x=0 AT B L fl(a)=—Ff(a)

(2) @OWB% xT2HEAMHDTHL
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